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R02 |R03 [R04 [ROS5 [RO6

A01-001 L=0.6km LI B 970
A01-002 L=0.3km LI B 500
A01-003 L=0.4km LI B 900
A01-004 293 L=2_3km u 1,578
A01-005 L=1.7km "= 700
A01-006 L=9._0km "= 3,410
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R02 |R03 [R04 [ROS5 [RO6

A01-007 L=1.5km | m | 700

A01-008 203 L=0.6km o w|n]| | 520 | |
A01-009 L=0. 6k R I 500

A01-010 L=2. 1k R I 2,000

A01-011 L=0. 6k . 733

A01-012 L=1.0kn R I 950

A01-013 5340 L=1.7kn R I 5,480 | 4.7
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R02 |R03 [R04 [ROS5 [RO6

A01-014 1160 L=0.5km LI B 960
A01-015 2457 L=0.5km LI B 466
A01-016 863 L=0.2km LI B 376
A01-017 6440 L=0.4km LI B 270
A01-018 6441 L=0.5km LI B 295
A01-019 2-22 L=0.3km "= 163
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R02 |R03 [R04 [ROS5 [RO6

A01-020 L=1.8km LI B 300
A01-021 L=0.3km LI B 250
A01-022 L=1.0km "= 234
A01-023 1066 L=1.9km LI B 417
A01-024 1033 L=0.4km "= 308
A01-025 113 L=2_8km LI B 848
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L=0.7km
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